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IRRIGATION ENGINEERING

Froffe wmw . d7 w2 (St 37 : 70
Time allowed : Three Hours) [Maximum Marks : 70
A () XUHIE A 8, 99 F 8 E R & Io o

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) F% F97 & G 7T F) FHER 0F G 8T FHA2 |
Solve all parts of a question consecutively together.
(iii) mm##g#maﬁﬁé‘f
Start each question on fresh pa

(iv) d#waﬁﬁamﬁ#aﬁﬂﬁ#aﬁa&mﬁm?z

Only English version is valid in case of difference in both the languages.

. (1) s fushdiftedfffismdand ?

(a) afywfafy (b) == fafy

(c) TRy fafy (d) fozwm fafy

For orchards field, which irrigation method is used ?

(a) Basin method (b) Check method

(¢) Border strip method (d) Sprinkler method
(2) e &Y %1 qE yieifia a2

(a) 9t %1 gETE (b) T HI TEE

(c) g &F H1HR (d) I &

The major resisting force in a gravity dam is

(a) Water pressure (b) Wave pressure

(c)  Self weight of dam (d) Uplift pressure
(3) wfu$ Ag=e NeEa B R |

(a) AFATHR (b) JAEHATRR S

(c) wwarg B (d) I By

The elementary profile of a dam is

(a) arectangle (b) a trapezoidal

(¢) an equilateral triangle (d) aright angle triangle

(10f 8) P.T.O.
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St % forgr & FER yaTE A7 g @
@@ (A" (b) (QF)"
) Qf @ ()Y
As per Lacey’s regime theory, the flow velocity is proportional to
@@ (@QP)" (b) (Qf)"
© Qf d ()
T TE S 3 T & 90° (TrrEad) HIv g Bl 8
(a) T A (b) et fersrrs T8¢
(c) ¥=IAR (d) UE BT TR
A canal which is aligned at right angles to the contour is called
(a) contour canal (b) water shed canal
(¢) branch canal (d) side slope canal
Mz o amafa &
(a) H fagr (b) = g
(c) wrgen fagr (d) forufagra
Garret’s diagram is based on
(a) Kennedy’s theory (b) Lacey’s theory
(¢) Khosla’s theory (d) Bligh’s theory
42 (D) R /wfires v ) e e A (Few), ¥ iz B (Rl #) dey g @
(a) A=1098 % (b) A=8.64 %
(c) A=5.68 % (d) A=8.64 %
The relation between duty D in hectares/cumec, depth of water A in metres and
base period B in days is given by
(a) A= 1.98% (b) A=8.64%
(c) A=5.68 -g' (d A= 8.64%
wHe % forg i I areft vee fiard weard 2
(a) fer (b) HR
() wfEn (d) W
First watering to crop is called
(a) Paleo (b) Kor
(¢) Flooding (d) Furrow
=rae % forg R i & forg g -nead &t 2
(a) 135 mm (b) 165 mm
(¢) 190 mm (d) 215mm
Optimum depth of Kor watering for rice is
(a) 135 mm (b) 165 mm

(¢) 190 mm (d) 215mm
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(10) ETISUTH UTfhehett wefdfa wtar 2

(a) USTE IR TG (b) wad vaTe 3R g
(c) Had 9 vaTg 3R T (d) =i Rag
Hydrograph is the graphical representation of

(a) Runoff and time (b) Surface runoff and time

(¢) Ground water flow and time  (d) Rainfall and time

(11) f=1 % & wenfera awfardt a3 7€ 2

(a) Teftm w&he a3 (b) HTEHA FETHTS

(c) wEaagm (d) weiifen aufamdt

Which of the following is not a self-recording rain gauge ? :

(a) Tipping bucket type (b) Simon’s rain gauge

(c) Steven’s weighing (d) Floating type rain gauge
(12) &R 2w # fopm g fremfén aufardt 1w gran 2

(a) ETEwA qutAT (b) feftm s zrgw

(c) e HTEHA TR (d) <% FHe TR{Y

In India, which of the following is adopted as standard recording rain gauge ?

(a) Simon’s rain gauge (b) Tipping bucket type

(c) Natural siphon type (d) Weighing bucket type
(13) frdt & ata 3 fogm =) Fraifia &0 & fog s sma R

(a) AT (b) dfes =he

(c) Tawft frswmem (d) I @t

Seepage through foundation in an earthen dam is controlled by providing

(a) Rock toe (b) Horizontal blanket

(¢) Chimney drain (d) All of the above
(14) Pt % widi =1 %t B9 1 g@E IO R

(a) ETESIeTS el (b) fe=%a

(c) HT=T e (d) I | A B TE

Main cause of failures of earthen dam

(a) Hydraulic failure (b) Seepage failure

(¢)  Structural failure (d) None of the above
(15) e wig it gern & fird =1 @fy

(a) wEmM (b) fawerar & % swfaa

(c) v agE A FmEwEda  (d) FU AfHH H FH FTEIRA

As compared to gravity dam, earthen dam
(a) costlier (b) are less susceptible to failure
(¢) require sound rock foundation (d) require less skilled labour

PIT.O’
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(16) Tl SHaT 1 HRT

(a) & & fard afers g

(b) &= o fires awi g

(c) ok a yftra frema wonferat @1 et 1 @A
(d) I9Tren ot

Causes of water logging

(a) over irrigation due to canal

(b) heavy rainfall over area

(¢) not proper drainage of surface and underground
(d) All the above

(17) Tmrores fam w=m et 2
(a) o W S oEEq
(b) TR 3§ F FHETR 3R HF Ftd FEAE W
(c) o & & FHT=R 3N THH TATE W

(d) dR A FHIE

A divide wall is provided

(a) atright angle to the axis of weir.

(b) parallel to the axis of weir and upstream of it.
(¢) parallel to the axis of weir and downstream of it.
(d) atan inclination to the axis of weir.

(18) ot & g
(@ WIRR (b) HIFAATE BH
© FHEW @ R
Self-cleansing strainers is
(a) Tej’ strainer (b) Browntie strainer
(¢) Cook strainer (d) Leggett strainer
(19) e 39 F 5 &
(a) we®g (b) Feaferifers
(c) WHIR (d)  ITE ot
Cross drainage works are
(a) Aqueduct (b)  Super passage
(¢) Level crossing (d) All of these
(20) =1 5 & & it o i wrew i e @ srfirdy o B W Areh % e
FFEmATae ?
(a) & WU (b) TETE=HY
(c) T Hw (d) TR

Which of the following canal structure is used to remove surplus water from an
irrigation channel into natural drain ?

(a) Canal fall (b) Canal escape

(¢) Canal outlet (d) Canal regulator
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(21) TRPUEA R
(a) 3UA HTLA THA TR (b) 3w 3u Fremw At
(c) 3IUS PTH T § FHAR (d) (a) 3 (b) ST
A deep well is

(a) always deeper than shallow well.

(b) has more discharge than shallow well.
(¢) is structurally weaker than shallow well.
(d) Both (a) and (b)

(22) foree afsprs w7 oma &
(@) ¥ e % St 78 a9 W
(b) ¥ framres % JryETE ¢ 7 W
(c) i Framms % FEhR TR aa W
(d) o e & IyEmE TR aE W
Silt excluder are constructed on the
(a) river bed upstream of head regulator
(b) river bed downstream of head regulator

(¢) canal bed upstream of head regulator
(d) canal bed downstream of head regulator

(23) TATHH & HRO GATH T I T A R ITGH Ieera - AT g B
(@) oift (Feawrel) SeerE- ARt (b)Y SeerE-HT
(c) YR Ieera-uni (d) HTEFHA Iera-ant

In case of non availability of space due to topography the most suitable spillway
is

(a) Ogee spillway (b) Chute spillway

(c)  Shaft spillway (d) Siphon spillway
(24) Ieqwret forer-3 w1 o g 2

(@) CHL3¥”? (b) CLH*2

(¢) CLH12 (d) CLH3>?

'l C = frem ons

L = et 3 ofd it wrwreft g
H = forer 3 v w ot ot 1 B2
The discharge passing over an ogee spillway is given by
(a) CHL3? (b) CLH3?2
(c) CLH!"? (d) CLH~?
where C = Coefficient of discharge
L = effective length of spillway crest
H = Total head over the spillway head
P.T.O.
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(25) T U 1 Fremor wfe gfie gr-erea wEema @
(a) Tafre=ie (b) faftre see
(c) fafsre smen (d) I o A B T
Discharge per unit draw-down of a well is called
(a) specific storage (b) specific yield
(¢) specific capacity (d) None of the above
(26) arrdt fafty @1 s fa s 2
(a) TSt WaTE F 9 ) A9 F (b) T WaTg I TEE A9
(c) Toreeoor T & (d) A+ T
The current metre is used to measure the
(a) velocity of flow of water (b) depth of water flow
(¢) discharge (d) None of the above
(27) WA 6 3HE (MK.S.) et B
(a) e e/ dve (b) er/dwve
(c) gfer wfiex (d) e
Unit of runoff in M.K.S. system is
(a) Cubic metre/sec. (b) Metre/sec.
(¢) Cubic metre (d) Square metre
(28) T wH 1 99 Hife 120 &7 2 1 3f2 38 1500 ha/cumecs &Y, @ Seer 1 AN
g
(a) 69&f (b) 1383
(c) 353 (d) 543
The base period of a particular crop is 120 days. If the duty is 1500 ha per
cumecs, the delta is
(a) 69cm (b) 138cm
() 35cm (d) S4cm
(29) awimTdt 77 i e =fie
(a) W& % g (b) TS H AR
(c) T ATHAR (d) €AW
A rain gauge should preferably be fixed
(a) near the building (b) under the tree
(¢) inan open space (d) inclosed space
(30) FHTYT HIT T ST B 2
(a) A (b) [EIE* N
) Th (d) THE R
For a proportional outlet, the flexibility is
(a) zero (b) between zero and one
(c) one (d) greater than one (1x30)
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2. T ggg 5 Iw s

Answer the following in brief :

@

(i)

(iii)

(iv)

)

3.4

(i1)

el €

Fish ladder
ESIERIEErD
Hydrologic cycle
LER I

Bed bar
99 $T 9 FHA FSA

Base period and Crop period

ek
Open well

feramd 1 ardt i fafty =1 afes gagmu |

Explain border strip method of irrigation with sketch.

7o % fiard ve T fimrd i germn Aifv |

Compare tube well irrigation and canal irrigation.

Fr=r <t gey o sTE Hifa -

Explain the following in brief :

()

(ii)

(iii)

5. (@)

(i)

6 1D

(i)

wa 6t 9 yrian
Water capacity of field
I A

Consumptive water

HHYR 1 G shiTam

Level crossing

THTS ETESIUTE ! GHHATEY |

Explain Unit Hydrograph.
foree wameet #1 afam augme |

Explain silt excluder with neat sketch.

BggiTor fher wfy o) i TowmsT |
Describe hydraulic fill dam with neat sketch.
TR ) Frgf & oy 3R gl ) | |

Explain advantage and disadvantages of canal lining.

321

(2x5)

(5+5)

(4+3+3)

(5+5)

(5+5)

P.T‘Ol
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(ii)

(ii)

9. (@)

(i)

(8 of 8)
o w10 % %t €14 % HROT FATHT |
Explain modes of failure of gravity dam.
e afy & wrfwonef FugmT |
Explain working of Guide Bank.

g% e -3 =) afem gwgme |
Explain with neat sketch syphon spillway.

F4& 3 et & foree fagral # s wamw |

Differentiate between Kennedy and Lacey silt theories.

- 3ta ast wra FA Y IgErEEe faft # gwsme |

Explain Isohyetal method to find average rainfall.
TER F TLEA I TG A AT HHHI ) FHHTRY |

Explain factors affecting alignment of canal.

321

(5+5)

(5+5)

(5+5)



